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Beweise die Potenzregel f(x) = x™® = f'(x) = n-x™"! mit Hilfe des
Differenzenquotienten.
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Differenzenquotient:

Ay  flx+h)—f(x) _ (x+h)"—x"

E - xX+h—x - h

Die Auflésung der binomischen (x + h)™ Formel n-ten Grades erfolgt gemaB dem
Binomialkoeffizienten nach:

(“”’)"=(3)'“”(711)'“"‘1'h+(§)'“"‘2'h2+“'+( P ) ra et (1) bn
Wegen () = g ist z. B. () = "0 2 =gn (i = 1) (1= 2) - (n - 3).

Daraus folgt:

x"+n-x"‘1-h+%-n-(n—l)-xn_z-hz+%-n-(n—1)-(n—2)-xn_3-h3+-~+n-x-h"‘1+h"—x"

Ay
Ax h
x"+h(n-x"‘1+%-n-(n—1)-x"_2-h+%-n-(n—1)-(n—2)-x"_3-h2+---+n-x-h"_2+h"‘1)—x"
N h

=n-x"‘1+3-n-(n—l)-x"‘z-h+3-n-(n—l)-(n—Z)-x"‘3-h2+---+n-x-h"‘2+h"‘1

fllmén x" 1+— n-(n—1)-x"2. h+— n-m—1)-m—2)-x"3-h2+-+n-x-h"24p"1

=n-x"1 q.e.d.
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